INELARIVP I AT —

JU—0—-)LPY+RI—

ADJUSTERS

o AREEBHAMIIOELFI DT RELLFEFH
BTEFEY,

® Main body and bottom can rotate independently so level
can be adjusted after installation.

ot BE:ivv T/ mEEEARRMER
(SWCH)
K/ RUPIRPA) (T5v7D)
BB/ BaJ iR DL Y v
(TPU) (TS5 v D)
e REMtE: ¥+ Th /BinH>ET0OX—b
038 (MFZn-O)

o SHAIKSES - SETSHESS

KC-285-1
o AL RS
® Material:
KC-285-4 Shaft: Cold rolled carbon steel wire (SWCH)
o Main body: Polyamide (PA)(black)
Specifi- ] .
Blle I Bottom: Thermoplastic polyurethane
(TPU) (black)
o ® Finish: Shaft:
- Zinc plating chromate treatment (MFZn-C)
® Measuring and office equipment
~ (T TTT T
-
— Lc.b e
ERES RoHS| | L D M BEFEEE N WEEE(g) mE
Product No. o = 2 Vertical allowable load Mass Code
@ 24 26 60 M10X1.5 69 21255
® | 54 34 50 | M10X1.5 113 21256
® | 24 | 255 | 50 | M10X1.5 588 58 21257
® | 54 32 40 | M8X1.25 71 21258
® 23 24 40 | M8X1.25 35 21259

® RoHS10EDNMGE A :RoHS10iERICHISTIRETT,

FrR9—
Z0t0
KEE

£=59—
P—Ls

~RI)

Ovo
ASAR

L—u



